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What time is it? Use the sentences in the box
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/ Complete the crossword puzzle. Write each time a different way.

Across (—)

1 It’s five in the morning. It’s five e\ |

4 It's4:15. It's a quarter ! four.

7 It's twelve am. It's Lo cie

8 It’s 8:00¢.m. It's eight in the

9 It’s twelve p.m. It's 000

own (])

Y It’s 7:00 am. It's seven in the (N3 NG
It's 3:30. It's three- 1riiv b

It’s 4:00 e.m. It's four in the QLACT Doy

t’s 1:15. It's one- £i£cen

5345 Itsa

- to four,

1 11:00 p.m. It’s eleven at L0,
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Write questions about these
Then answer the questions.

people. Use the words in parentheses.

1. A: 15 Terry wearing shorte?

5. A Bve cedio ond semo wokdnng 4V

(Terry / wear shorts) (Pedro and Sonia / watch television) b

B: No,_he's not. He's wearing icans, B: No ANeu'vC wek . Theu'e s(x\\cw\og |

2. A Ja-hn wearing o rancacd 6. A: O 10t “\in o Ryondon Cohng O |
(Tai-lin / wear a raincoat) (Tai-lin and Brandon / eat pizza)

B: No hels ynok. wieovg  coot B: Neo, ey are . ey (e catwg p\‘a.oa‘
3. A 1o Mava dalewy on the giorve 77, A B cor\od  chakwg epwe?
{Maria / talk on the phone) (Carlos / chat online) :
B: NOo she's not. Sheb slcecwng B Mo ne's vor . He's veodwg o \ocox

‘- .
ore Terd ond helen e dh!!\:ja 8. A 15 MOy WEYWY oA B2

A:
(Terry and Helen / eat) {Maria / wear boots)
B: No, they're not. Theu are B: No. sne’s pob . Sined weaww
donang Wgh \eeld







